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.,BE/< 0,+E/<le 3 *$z )" *5% = (
=VIEUWiQp %DQRV $QUD D 3 *$z * *5$ = (
*DUDPV]HJIL ZiV]
9HUVDIV ,QIHUQDILRQD! 6% 3 8130* 81,21
= XQDVINU 3RIVIIURIIN i U 3 8130* 81,21
+$5.$ /E6=/T 3 *$z - *5$ = (
_RYiFV ZiV]lyQp 3 *$:- " *5%: (
*D]GD OilIRQ
3l -yJVHIH Y 3 5%: % *5% = (
il -yJVHIH Y 3 5%: % *5$ = (
.UDV]QDL -HQR pV 7VD $Xly $C (&P $(*21
.UDV]QDL -HQR pV 7VD $Xly 3 $(&$) $(*21
.UDV]QDL -HQR pV 7VD $Xly $C (&P $(*21
.UDV]QDL -HQR pV 7VD $Xly 3 $(&$) $(*21
*HJHV VIYiQQp
6XGil ,PUpQp $C  *$- > *5$ = (
.(6=(* .E52/< $C  *B:- ¢ *5% = (
*|UEpQp " iYIG O
"$1&6 52/%1" 3 *$z - *5% = (
*UHJRU 3piHU (Q
6E5_E1< 3e7(5 3 *$z )% *5% = (
*UHJRU =R0i QQp
%2*1E5 OE5,$ 3 Ty *5% = (
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%2*1E5 -T=6()1le 3 Ty *5% = (
*|pllQIHU ENRV
*8=6/29E1 ) (5(1& 3 *$z * *5% = (
E%S5$+EO -E126 =2/7E11le 3 *$z * *5$ = (
%$.21<,1e 586=1<E. OE57$ 3 *$- * *5% = (
$6=T"<-T=6Q 3 *$z * *5$ = (
$6=T"<-1T=6Q) 3 *$z * *5% = (
$6=T"<-T=6Q 3 *$z * *5$ = (
6&+(5(5-8",7 3 *$z * *5% = (
52),1e %256 €9$ 3 *$z * *5$ = (
*8/<E6 ) (5(1& 3 *$z  * *5% = (
*UXEHU OiUD 9D
“E9," =2/7E1 3 *$z )% *5% = (
/$%$1&= "2021.26 %(1-$0,1 3 o % *5$ = (
(*(5(6, ../ E1L%5,*77$ 3 *$- )* *5% = (
*(5(6, -/ E1%5*77$ 3 * o ox *5$ = (
*58%(5 OE5,$ 9%$/e5,$ 3 *$z * *5% = (
*XN\iVQp 7XINR
9%DUyFVL =VRU 3 *$z )% *5% = (
OE5.86 &63$%$ =2/7E11e 3 *$z - *5$ = (
$17$/ 0$*"2/1% 3 *$z )" *5% = (
$QID) EJQHV $C  *$:- )* *5$ = (
*\RUIL . UV]IQ
%25%e/< $77,/$ 3 * o ox *5% = (
+DIDVIQp - RV
%2526 ) (5(1& 3 *$z % *5$ = (
+DPNyQp -XKiV]
"2%261e 6h72 %2/<$ 3 *$z * *5% = (
)$5.%$61e .26 (5=6e%(7 3 *$z * *5% = (
7yIK VIYiQ $C  *$- ¢ *5$ = (
+DWViQ\L OyQIND
+$56E1<, ) (5(1& 3 *$z % *5$ = (
+DIYDQL 6]UYLD
%$/7E6 $75,(11 3 * o ox *5$ = (
3 *$- > *5%: (
77+ -T=6Q) 3 *$z * *5$ = (
+HJHG V /iV]lyQ
5(*26 ,679E11e 3 *$:- $ *5$ = (
+HLQHNQP QHUHFN
6=3$%T 6E1"25 3 *$z % *5$ = (
3,17e5 .$7%/,1 3 *$- % *5%: (
3E/)< (g56 3e7(5 3 *$z )% *5$ = (
.5e0(5 *<g5*< 3 *$z D% *5%: (
%E5"261le *E5"21 .251e/,$ 3 *$z % *5$ = (
6(%21e &621.$5e7, (02.( 3 *$z )% *5% = (
%I/<$ *E%25 3 *$z D% *5%:(
3E129,&61e 6=(%(5/,1* .5 3 *$- " *5% = (
3E129,&6 $1"5E6 3 *$z - *5$ = (
1$*< 0$5,$11$ 3 *$z ot *5%: (
672//(51e .29E76 9(521,.% 3 *$z )* *5$ = (
1E",1e 717+ (5,.$ 3 *$- )* *5% = (
%25%e/< (6=7(5 3 *$z * *5% = (
z (&-(50%$11 -E126 3 wmoox *5% = (
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+RIJKDXVHUQp 9DUJID (U]VpE 3 *$o * *5$ = (
+RITKDXVHUQp 9DUJD (U]VPE 3 >z * *5% = (
1$*< 3(75% 3 *$z *5%: (
6=$%1 6E1"25 3 *$z * *5%: (
6=3%1 6E1"25 3 *$- )* *5% = (
+HUPiQ 6i QGRU
*g%g/g6le "5 6=7%$)$ "2527 3 *$z D)% *5%: (
+GYpJL 0§D
2/E+6=,/9(6=7(51e 3 *TI 3 *5%: (
+V]pNHQ\ . UV]
+(*("861e . 5E/< .$7%/,1 3 *$z )* *5%: (
+RUYilK OiUD
S$EV]RI~I,QIDINDQ %N 3 8130* 81,21
+RUYiIKQp &VRV]
3(75E1<, 7$0E6 3 *$:- % *5% = (
+XEHU -iQRV
)2"25 &65%$ 3 *Hz % *5$: (
3$3 -T=6()1e 3 *TD oy *5%: (
3$3-1T=6Q) 3 *Hz % *5%: (
717+ 9(521,.% .25 *$:- * *5%: (
717+ 9(521,.% .25 *$z * *5$: (
+XV]il $1]
%tly ,VIYiQQp $C  *$:- * *5%: (
1DJ\ 6iQGRUQp +DYHIDQN (U $C  *$: * *5% = (
+XV] iU +DIQDIND
.(&6.e61e -EO%25 *<gl*<, 3 xmoox *5%: (
LJLEVLFV *HUJH
%/$6.T 3e7(5 3 <z * *5%: (
JSDFV /ZiV]ly
,3$&6 /E6=/T1le 3 <z * *5%: (
,3%&6 /E6=/T1e 3 *$zo* *5$: (
,3$8&6 /E6=/T1le 3 <z * *5%: (
,3%&6 /E6=/T1e 3 *$zo* *5$: (
-iJQHFV OINiyVQ
9%DIRJIK - i QRV $C  *$: * *5% = (
2, 1(&.(5e9% $C  *$:z > *5%: (
-DNDE . ULV]iLQD
*$/$0%26, ,679EL 3 *$z )* *5%: (
-1PERU (QGUH 7D
9E*E6, $77./$ 3 *roox *5%: (
-DQiN 7LERU -y]
(*5, 2562/<$ .$7%/,1 3 *$: D)% *5%: (
-DQ]D OyQIND
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-$1=$011,.$ 3 *$z % *5% = (
-REEiJ\Qp $QND
_XIQL 0NV 3 *$z % *5% = (
-XKiV] OiUID
0,.$ 7$0E6 ,679E1 3 *$z )% *5% = (
3E%/( ",E1$ 3 * o ox *5$ = (
.5%$86=3e7(5 3 xeoox *5% = (
-XKiV] QUPRV
%8"Ele )h/g3 .$7%/,1 3 *$z )% *5% = (
-DNXN -iQRV
.2=0% *<g5*< 3 Sl ) *5% = (
*$5$09g/*<, -8",7 .25 *$- * *5$ = (
.DIDP iU 3plHU
%RJIQIU pV 7iWD i $C $E&P) $(*21
%RJIQiU pV 7D . IN 3 $(&$) $(*21
]
0e6=E526 ("7 3 *$z % *5% = (
.DPDUiV 7LERU
%$1.$,679E1 3 *$:- % *5% = (
%$1-Ele 6=$/%$, 7(5e=$ 3 *$z % *5$ = (
.DQil 7 QGH
/(1*ele .$1E/ -8/,E11% 3 *$:- )* *5%: (
.DQ\y MVIViQ
.29E&6 7$0E6 3 *$- * *5$ = (
. DUGRV %i0lQl
0,.86 -E1261e 3 *$z )% *5$ = (
-=69 1DJ\NDQUJVD 6SHG . I 3 5%: % *5% = (
9$6 52/$1 " 3 o % *5$ = (
.DSRV +RIGLQJ =Ul 3 5%: % *5% = (
-DSRV +RIGLQJ =i 3 5%: % *5$ = (
3l -yJVHIH Y 3 5%: % *5% = (
il -yJVHIH Y 3 5%: % *5$ = (
3l -yJVHIH Y 3 5%: % *5% = (
$EURQFV - HIHVNHGRKiT] - Ii 3 5%: % *5$ = (
- (ILFK 0DV +RIGLQJ =l 3 5$:- - *5% = (
*(/(1&6€5 (5=6e%(7 3 *$z )" *5$ = (
.29E&61e ) (- (7( -$7%$/,1 3 *$z )" *5% = (
.29E&6 $77./$ 3 *$z )" *5$ = (
0$-/(5 9E1786 %5,*,77$ 3 ol *5% = (
JLIKINHFK . 1 3 5$: * *5$ = (
SFFHI +XQIDQG . Ii 3 5$: * *5% = (
L9*< i 3 5$: * *5$ = (
%S/, 7,%25 *E%25 3 *$- )* *5% = (
&6$-E*+< *E%25 3 *$z )* *5$ = (
.21&6,. *<g5*<, 0$5,$11%$ 3 *$z )* *5% = (
g+/0%$11 *<8/% 3 *$z )* *5$ = (
g+/0$11 *<8/% 3 *$- * *5% = (
31/<$ *E%25 -E126 3 *$z )* *5$ = (
.DUGRV *\ U\
%h771(5 .)7 3 8130* 81,21
$*, +XQJiUD .1y 3 5%: % *5% = (
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+DIDVSDFN %l 3 5%: % *5% = (
12/$72 ODI\DIRW]iJ . I , 5%: % *5$ = (
.DSRV +RIGLQJ =Ul 3 5%: % *5% = (
il -yJVHIH Y 3 5%: % *5$ = (
=|S 7HFKQRIRJLHV . I 3 5$:- = *5% = (
3,77,1T $"5E1 3 *$o * *5% = (
.$5726 *<g5*< 3 *$:- * *5%: (
.$5726 *<g5*< 3 *$z * *5$ = (
%RJIQiU pV 7D . 1N $C (&P $(*21
%RJIQIU pV 7iWD i 3 $(&$) $(*21
. DUVDL %HilD

%$51$ -1=6Q) 3 *$z % *5$ = (
.5,=6E1 -T=6()1le 3 *$- " *5% = (
.DUVDL ™ iQLHL

9(5.0%$1 /E6=/T O,+E/< 3 *$z  * *5% = (
9(5.0%$1 /E6=/T O,+E/< .25 *$- * *5$ = (
.E5E6=-T=6Q) 3 *$z  * *5% = (
-$*$",&6 O,+E/< 7,%25 3 *$z * *5$ = (
.2=0%$ /E6=/T -(12 $C  *B:- > *5% = (
.DUVDL MIYiQ

3$33=2/7E1l1le 3 *$z )% *5% = (
7861E", 3e7(5 3 *$z )" *5% = (
.,63E/ ,05ele 3 *$z " *5$5:- (
5$"E. -8",7 3 *$z - *5$ = (
1pPHIK VIYiQ 3 *$z * *5% = (
6=2.2/%,1e O$7E1&6, 6=,/9 3 *$z * *5$ = (
- 1IDL *HUJHN 9

$EURQFV - HIHVNHGRKiT] - Ii 3 5%: % *5$ = (
"$586 *e3 e6=6]RIJ . $C (&P $(*21
"$586 *e3 6= 6]RIJ - 3 $(&$) $(*21
- D\VHU 3piHU

$*, +XQJilD - I 3 5%: % *5$ = (
12/$72 ODI\DIRW]iJ . Ii 3 5%: % *5% = (
12/$72 ODI\DIRW]iJ . I 3 5%: % *5$ = (
12/$72 ODI\DIRW]iJ . Ii 3 5%: % *5% = (
WY RUHI =01 3 5%: % *5$ = (
-HHPHQ ,VIYiQ

1,(5 7.%25 3 * o ox *5$ = (
1,(5 7.%25 .25 *To o* *5% = (
.E5E6= _E52/<1le 3 *$z * *5$ = (
.E5E6= .E52/<1e .25 *$:- * *5% = (
%2526 * (=62 /(9(17( 3 *$z * *5$ = (
%2526 (6=7(5 3 *$z  * *5% = (

- HOHYL] )HUHQF
3%$7%., .5,6=7,1% 3 *ErooT *5%: (

%(./(5 5%$0%$=%$1 +h6(<,1 3 *$- - *5$ = (
.(/9.7=)(5(1& 3 *$- ¢ *5% = (
- HUpNI\iiUly 1yu

.(5e.*<E57T1 1T5% 3 wmoox *5% = (
.LVDUIQp - HPHQF

-E6=%(5el<, /21$ 3 *$- " *5% = (
69(57(&=.< -8+E6= 0$5&(// 3 wwoov *5$ = (

_LVSil OyQIND +

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li
$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
/$&=.TOT1,.$ 3 xeoox *5% = (
%e5&(6 *E%25 52/$1 " 3 * o ox *5$ = (
"20%, 6E1"25 3 *$z )* *5% = (
1$*< *E%25 3 *mzox *5$ = (
6&+$8% =2/7E1 3 *$- )* *5% = (
.,63E/0OT1,.$+$-1%/.$ $C  *$:- )* *5$ = (
-WVSil SyEHUI -
.5,=6$1<,. &6$%$ .25 *":o * *5$ = (
725E. $1°5($ 25 *Toox *5% = (
W (U]VpEHI *
.23E&6<$1,.T 3 *$:- $ *5% = (
=20%25, $77./$ 3 * o ox *5$ = (
$C - " *5%: (
- LW LINRIHI
+258&=, %$5E7+ ,/=,.T 3 ol *5% = (
+2588&=, 7$0E6 3 wwoov *5$ = (
-$6=%% 7t0($ 3 Fmoox *5%: (
53$*T "E1,(/ &6$%$ 3 *$z )* *5$ = (
LW 1ylD
02+$, 7$0E6 3 *$:- $ *5$ = (
%25-E6le 6=3%$",-8",7 3 Tz % *5% = (
+259E7+ %E/,17 3 *=zo- *5$ = (
%$/E=6 $1"5($ 3 *$z )* *5% = (
.IWQp -RYiFV,
69596 -1=6() 3 *$:- )* *5%: (
*8/<E6 /E6=/T =2/7E1 3 *$z )* *5$ = (
.LWQp 6]DEy 7H
)(&6(5 (0(6(e9% 3 *$:- )* *5$ = (
~RNKH) =vVXJVDQQD $C  *HB: > *5% = (
-RNKH) =vVX]VDQQD $C  *$:- )* *5$ = (
.(5.86.Ele 9EO, *<g5*<, 3 *$- )* *5% = (
-(5.86.% &63%$ $C  *$:- )* *5$ = (
OE7e =68=6$11%$ .$7$/,1 3 *$- * *5% = (
OE7e =68=6$11$ -$7$/,1 3 *$z * *5$ = (
OE7e =68=6$11%$ .$7$/,1 $C  *$- * *5% = (
1<2/&$61e +259E7+ &6,//$ $C  *$:- )™ *5$ = (
1<2/&$6 (512 $C  *HB: > *5% = (
- IV]OHU -yJVHI
..6=/(5-T=6Q 3 *$- * *5% = (
.,6=/(5$1"5E6 3 *$z )* *5$ = (
.,6=/(51e 7$/$%26 O$*"2/1 3 *$- * *5% = (
.,6=/(51e 7$/$%26 O$*"2/1 .25 *$- * *5$ = (
/(+2&=3e7(5 3 *$- * *5% = (
-RFIND 7LERUQp
9$5*Ele 5(0/(5 .5,6=7,1% 3 *$:- % *5% = (
+$-"8 1E1"25 3 Tz % *5% = (
%$-7$,0,./16 3 *$- ¢ *5% = (
%$-7$,0,./16 3 wwoov *5$ = (
=g/7/ " T5% 3 - *5% = (
.2&=$6E1"25 3 *$- - *5$ = (
+257,1e 0,6,1.7T &6,//% 3 xeoox *5% = (
-RIRVD (UY1Q -i
GilN|]L $QUD $C  *$: )™ *5% = (
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_RIRVD +HQUHI
(- (7(=2/7E1 3 * o ox *5$ = (
.2/263%$ +(15,(77% 3 xeoox *5% = (
%,771(5 )$11, 3 *$z * *5$ = (
.5%$86=3(75% 3 *$z * *5% = (
.5%$86=1e /E1&=26 *$%5,(// 3 *$z * *5$ = (
6$//$< %(51$" (77 3 *$z * *5% = (
.2/26Ele +259E7+ e9% 3 *$z * *5$ = (
GilN|]L $QUD 3 *$z * *5% = (
6iUN|]L $QUD 3 *$z * *5$ = (
-RIRViQp +RUYill
52=6 %$/E=6 3 * o ox *5$ = (
52=6 %$/E=6 .25 *To o* *5% = (
.2/26% (59,1 3 *$z * *5$ = (
.2/26Ele +259E7+ 9% 672 *$:= > *5% = (
-RSHUQIFIN\ 7DP
+,57/,1* %2/<$ 3 *$z % *5% = (
-RUPRV %HUQDGHI
.(5e.1e)h/g3 $11$0E5,$ 3 *$- * *5% = (
-RVJHJIQp *i0 $
+259E7+ 7$0$5% 3 *$z )* *5% = (
-RYiFV VIViQ
.29E&6 "E9," 3 xeoox *5% = (
-RYiFV OlNoyV
.29E&6 0,./T6 3 *$z - *5% = (
w(5L7($77./% 3 * o ox *5$ = (
(*(/ OE5,$ 3 *$z * *5% = (
(*5, 0E57$ /°,.T 3 *$z * *5$ = (
-RYiFV 7 QGH
6E1"251e )$5.%$6 (5,-$ 3 *$z )% *5$ = (
)(&6.( -E/OE1 3 *$z - *5% = (
717+1e 386.E6 *<g1*<, 3 *$- * *5% = (
+$"+E=, ,O5ele 3 *$z * *5$5:- (
-RYiFVQp OlX e
.,66$75,(11 3 xeoox *5% = (
* /% %$/E=6 3 *$z )* *5$ = (
-RTiU $QNy
.29E&6 ,679E11e 3 *$o * *5%:(
-R]iU -iQRVQp
.2=E5%$1,.T 3 *$z % *5$ = (
%2//% ,679E11e 3 *$- * *5% = (
%2//% ,679E11e 3 *$z * *5$ = (
-R1PDQp =VIURV
%5,1"=,. $77,/$ 3 *$z % *5$ = (
.2=0%$ 0,+E/<1e $C  *B- > *5% = (
-XQ 7IERUQp
9,/E*, =,7$ 3 *$z % *5% = (
"g06g-, -E126 3 wwoov *5$ = (
"g06g~,le 6(59E16=., 3,52 3 - *5% = (
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717+ *<g5*<le 3 *$- > *5%: (
/DEyF]NL OyQIND
9$5*$ -E126 3 *$z )* *5% = (
/DGRV -XGli
60,7 0$*"2/1% 3 *$z - *5% = (
720%25 e9% 3 *$z * *5$ = (
/DIIRV -y]VHI
9ES, .29E&6 E*1(6 3 *$z )* *5$ = (
/pQilG *HUJHI\
6=3$%T $1"5($ 3 *$z )% *5$ = (
/pQilG *\ U\
0T5,&=1e =9251,. &6,//$ 3 *$z )% *5$ = (
/HQGYDL VIYiQ
62/<0E5 =2/7E1E.26 3 *$z * *5$ = (
.29E&6 ,679E11le $C  *$:- =~ *5% = (
/HQJI\HIQp &VHIH
9(7e6, *E%25 3 *$z )% *5% = (
717+ )(5(1& ,679E1 3 *$:- % *5% = (
717+ )(5(1& ,679E1 3 *$:- % *5% = (
0%$-25=2/7E11e 3 *$z % *5$ = (
0%$-25=2/7E11e 3 *$:- % *5% = (
717+ )(5(1& ,679E11e 3 *$- " *5% = (
+$5°, 7$0E6 3 *$z * *5% = (
+$5",1e 7(6el<, $1°5($ OT 3 *$z * *5% = (
.290E&6 .$7$/,10(/,1"$ 3 xeoox *5% = (
/HUQHUQp -iV]Vi
= 77,1*(56E1"25 3 Ty *5% = (
5(03257 2562/<$ 3 *$z )% *5$ = (
.2+E1 .E52/< 3 Ty *5% = (
)85e6=1e 3,6&+ 9(521,.-$ 3 *$z )% *5$ = (
le*(/ ( *E%25 3 *$z )% *5% = (
3(,"/-E126 3 o % *5$ = (
SIEiQV]INL ENRV 3 *$:- % *5% = (
3("/&6,//3% 3 *$:- )* *5$ = (
)85e6==2/7E1 3 *$z )* *5% = (
327=7Ele)$,; -$7$/.1 $C  *$:- )™ *5$ = (
+ EIHU -y]VHIQp $C  *$:- 0~ *5%: (
+ E[HU -y]VHIQp $C  *$- > *5$ = (
+ EIHU -y]VHIQp $C  *$:- 0~ *5%: (
/iU VIYiQ
.29E&6 /E6=/T 7$0E6 3 *$z  * *5% = (
7$.E&6 ./E5$5e.$ 3 *$z )* *5$ = (
)5%$1.7T 7$0E6 3 *$z )* *5% = (
/,67E51e .29E&6 %25%E/$ $ 3 *$z )* *5$ = (
72/1%, e9% 3 *$z )* *5%: (
%(1<296=.<0T1,.$ OE5,$ 3 *$z * *5$ = (
+DIPRV %DIi ]V $C  *$: )™ *5% = (
/RI] *iERU
- e%(5 7$0E6 3 *$z )% *5% = (
/XNiFV *HUJR OL
7$_E&+ *(5* (/< 3 *$:- % *5% = (
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0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
ODGHU ,VIViQQp
%(1&=,. )(5(1& 3 wwoov *5$ = (
6&+(1. /E6=/T1le 3 *$- * *5% = (
ODGHU 6ilD
/2&. -T=6Q) 3 *$z * *5% = (
$/70E5 -1T=6Q) 3 *$z * *5$ = (
ODNDL =VRl
6&+$8%1le $6=0%$11 OT1,.$ 3 o % *5$ = (
ODUFLV =VX]VD
-$.$% .,56=7,1% 3 *$z * *5$ = (
=E"25, (5,.% 3 xeoox *5% = (
6E5(&=., 7$OE6 3 * o ox *5$ = (
OiUNXV $IDIRV
58%(&=1e 6=$/$, 5,7$ 0$5, 3 o % *5$ = (
58%(&==2/7E1 3 Ty *5% = (
OE5.86 $/$-26 3 *$z )% *5$ = (
.81 0E5,$ 3 *$z )% *5% = (
0Oe6=E5261e +(*("86 *$%5,( 3 *$z )% *5$ = (
3E5, (0(6( 3 - *5% = (
%2=6,. (6=7(5 3 * o ox *5$ = (
&6(57$$11%$ .5,6=7,1% 3 *$z )* *5% = (
617, .5,6=7,1$E*1(6 3 *$z * *5$ = (
5$&6 %e/$ $C  *Tmzo* *5$: (
OiUNXVQp 6] |NH
.E52/< /E6=/T 3 *= - % *5% = (
ODUVL &VDED $lil
0$56, &6$%$ $77,/$ 3 *$z )* *5% = (
03$56, $77./$ 3 *$z * *5$ = (
OilIRQ (U]VpEHI
1$*<3E/ 7,%25 3 Tz % *5% = (
1$*<3E/1e % T .$-87,$11%$ 3 Ty *5% = (
g79g6 ./, T (5=6e%(7 3 wwoov *5$ = (
9,1&=( ./E5% 3 *$z )" *5% = (
*<gl*<, =62/7 3 * o ox *5$ = (
OE5721 O,+E/< $C  *B:- > *5% = (
ODUIRQ -iQRVQp
+(51(. *E%25 3 *$- * *5% = (
+(51(-1le *21"$ ,/21% 3 * o ox *5$ = (
OilIRQ OINiyV -
6=8&6 6E1"25 3 *$z )* *5$ = (
-,33(/+$86(5 =2/7E1 $C  *$: )™ *5% = (
-,33(/+%$86(5 /", T $C  *$:- )* *5$ = (
-,33(/+%$86(5 /",. T $C  *B- > *5% = (
-,33(/+%$86(5 /", T $C  *$- > *5$ = (
YHIIHUQp BIRFNHU $QQD Oiill $C  *B:- ¢ *5% = (
OE5721 0,./16 -T=6()1e $C  *$:- > *5%:(
ODUIRQ 7LERU
.29E&6 ("7 3 *$z % *5$ = (

ODUIRQRVL -y]VH
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0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
.(&6.e61e "8"E6 (5=6e%(7 3 *$- * *5% = (
ODI~] =VRII
1$*<le 717+ (5=6e%(7 3 *$= D% *5%: (
ODIN\Ny eYD
.$/TE*1(6 3 *$z * *5% = (
.29E&6 ,679E11e 3 *$o * *5%:(
OHGYH OyQIND
9$5*$ =62/7 3 *$z % *5%: (
OpV]iURV OyQIND
0$5.T *E%251e 3 *$z * *5$ = (
OH]R (UIVpEHI
-29E&6 *$%5,(//$ 3 *$z % *5$ = (
0(57+1e %e5(6 7h1~(,5el 3 *$z % *5%: (
0O(57+1e %e5(6 7h1" ( ,5el 3 *$:- )% *5%:(
o(57+ $77,/$ =2/7E1 3 Tz % *5% = (
%$/2*+ -T=6 Q) 3 * o ox *5$ = (
0$72/% 3e7(5 3 *$z )* *5% = (
03$72/% 3e7(5 3 * o ox *5$ = (
OH]R ZiV]ly
%(57% /E6=/T1e 672 *":- * *5% = (
%(57$ /E6=/T 672 *":- * *5% = (
)XQIHN /HD $C *Tz o* *5$ = (
0LQD 3plHU
SIEHUIQP %yGLY OyQIND HY 3 5%: % *5$ = (
OXFVL OiUNXV .0
&6$-E*+< *E%25 3 *$z )* *5$ = (
*526= -$/7(5-E126 3 *$- * *5% = (
1DFVD *iERU
6=%$"%, €9% 3 *$z % *5%: (
1DJ\ S Vi
1$*< $77,/$ ,679E1 3 *$:- % *5% = (
.(51 ./E5% 3 *$z % *5%:(
1DJ\ $HiLD OIN
%$*>, 9,.725 3 *$z % *5$ = (
1DJ\ "H]VRQp
.$/,1&6E. ,679E11e 3 *$:- % *5% - (
1DJ\ *iERU
%/$6.29,&61e 785, .,77, 3 o % *5$ = (
%/$6.29,&61e 785, .,77, 3 *$z % *5% = (
705, (5=6e%(7 3 *$- % *5%: (
6$08 /E6=/T 3 *$z % *5% = (
0e6=E526 1,.2/(77 3 *$- % *5%: (
6=/29E. +$-1%$/.$ 3 xeoox *5% = (
*E/ -E126 3 * o ox *5$ = (
6=3%1 *E%25 3 *$- )* *5% = (
6=/29E. =62/7 3 * o ox *5$ = (
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O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN

1DJ\ *p]D *\R]R

6&+1(, " (5 /E6=/T +(15,.1e 3 *$:- % *5% = (
1DJ\ /DIRV

.29E&6 &65%$ 3 *$z % *5% = (
.(&6.€6 $77./% 3 *$z )% *5$ = (
.25026 -$7$/,1 OE5,$ 3 *$z )" *5% = (
6=3$%T1 $/(;$1"5% 3 * o ox *5$ = (
$/$3,0711,.$ 3 xeoox *5% = (
+253E8&6,. -1=6() 3 *mzox *5$ = (
1e0(7+=62/71e 3 *$- * *5%:- (
1DJ\ 6iQGRU

"g06( e9%$ 3 *$c- )* *5%:- (
"g06( e9s$ 3 *$- * *5$ = (
1DJ\ 7DPiV 6iQG

71&6 )RNRQN . I 3 8130* 81,21
%2//$ $/(; 3 *$z ot *5%: (
1DJ\ 7LERU

%261<E. =2/7Elle 3 *$- " *5% = (
%261<E. =2/7E1 3 *$z - *5$ = (
.,66 6E1"25 3 *$z * *5% = (
1$*< 7,%25 3 *$z * *5$ = (
1DJ\ =VyllD

7$511&=, &6,//$ 3 *$z )% *5$ = (
1DJ\ .DPSHU Up

-29E&6 /$-26 3 *$z % *5$ = (
7T.26 $1°5E6 3 *$z )% *5% = (
1DJ\Qp -RYiFV O

9DUJD =VX]VDQQD 3 *= - % *5% = (
%25%E6 %(51$" (77 3 *$z * *5$ = (
.T.3%,1e &6e8&6(, /21% 3 *$z  * *5%:-(
1HPHV $QQDPiUD

1(0(6)(BA& 3 *$z  * *5% = (
1pPHIK $QQD

9,1&= %$/E=6 =2/7E1 3 *$- " *5% = (
9,1&=1e 9$5*$ 2562/<$ 3 *$z - *5% = (
1$*< 2562/<$ (00$ 3 *$z )* *5% = (
-$186 7$0E6 3 *$z )* *5$ = (
)$5.$6 $1°5($ $(C *$z > *5%: (
)$5.$6 $1"5($ $C  *$- > *5$ = (
)$5.$6 $1°5($ $(C *$:- > *5%: (
1pPHIK ,PUpQp

+259E7+ -T=6() 3 - *5% = (
1pPHIK VIYiQQp

62/7 $5%1.%$ 3 *$z * *5% = (
6=(0(6 *E%25 ) (5(1&1le 3 *$z * *5$ = (
0,./T6 *$%5,(//$ .25 *=:o * *5% = (
1pPHIK -RUQpID

.8.25(//, 679E1 3 *$z % *5% = (
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0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
9(5" (5%(51e %277/,. e9% 3 Sl ) *5% - (
2\tl ,ERI\D
1<t5, %2/<$ 3 *$z )% *5% - (
&=*El< e9% $C *To- * *5%:(
2VI\iQL /DIRVQp
5%.277<$, -T=6 () 1le 3 *$z % *5$ = (
1e0(7+ $77,/% 3 *$c- )* *5%:- (
1e0(7+1e 0$*1&6 2562/<$ 3 *$z )* *5$ = (
3iEMH "LiQD
"20%. ,679E1 3 *$z * *5$ = (
3iEMH 7DPiV
"20%$.1le 6=(1", (5,-$$"5, 3 *$z )* *5$ = (
3iEMHQp OHVIHY
-8+E6= ./E5$ 3 *$:- $ *5$ = (
3D0DJL -y]VHI
0$<(5 *<g5*< 3 *$z )% *5$ = (
02/1E5 6=,/E5" 3 Ty *5% = (
02/1E51e %(5&6e1<, $1,.T 3 *$z )* *5$ = (
&=8"$5 0,+E/<1le 3 *$z * *5% - (
&=8"$5 0,+E/<le 25 *$: * *5$ = (
3iQFplRV OilID
02/1E5 _$7$/,1 3 *$z )* *5$ = (
02/1E5 .$7%$/,1 3 *$z * *5% - (
02/1E5,05( 3 *$z )* *5$ = (
02/1E5,05( 3 *$z * *5% - (
3iSHV . RUQPID
586=,1 =2/7E1 3 *$- )* *5% = (
63,/E. /E6=/T 3 *$z )* *5$ = (
3DSS eYD
"8%21,&6 0$5,$11% 3 o % *5$ = (
1$*<le 6=,/9% .$7%/,1 3 *$z )* *5% - (
3DSS ,IRQD
+259E7+ ) (5(1& 3 Ty *5% = (
A<, /70 3 *Toot *5% = (
9E6ES+(/<, e9% 3 *$z )" *5% - (
3HIHKQp %HQH (V
%RJIQiU pV 7D . 1N $C $(&P) $(*21
%RJIQIU pV 7iWD _Ii 3 $(&$) $(*21
3pQIHN OHILQGD
=6,79%, -E126 $C  *$- > *5$ = (
3LQF]pVL -XGL
70T%,E6 6E1"25 3 *$z % *5$ = (
3QIpV " iVIG
)$=(.$6 *$E/ =68=6$11% 3 *$z * *5$ = (
2URYUV . iURN $C  *B- > *5% - (
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0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
3RIKXUV]NL $QGU
)IRUQ =i 3 5%: % *5$ = (
12/$72 ODI\DIRW]iJ . Ii 3 5%: % *5% = (
12/$72 ODI\DIRW]iJ . I 3 5%: % *5$ = (
S$Ot= K 3 5%: % *5% = (
$EURQFV - HIHVNHGRKiT] - Ii 3 5%: % *5$ = (
$EURQFV - HUHVNHGRKi] - Ii 3 5%: % *5% = (
3URVLIVQp 6ill
9lV]lyFNLQp -RYiFV 5D 3 *$z - *5% = (
..66 /E6=/T 3 wwoov *5$ = (
ORIQiU 3plHU $QGUiV $C  *B:- ¢ *5% = (
ORIQil $IIID &VDED $C  *$- ¢ *5$ = (
9%XGDL EJQHV $C  *$- * *5% = (
9%XGDL EJQHV $C *Tz o* *5$ = (
9%XGDL EJQHV $C  *$B: ) *5% = (
-85,//% (5=6e%(7 $C *Tz o* *5$ = (
.85,//% (5=6e%(7 $C  *B:- > *5% = (
5DGYiQVINL 5LID
%(&. $1,7$ 3 *$z * *5%: (
6LPRQ /iV]ly $C *Tz o* *5$ = (
SDGYiQV]NL =Rl
OE7<861e 9$1&6,. (5=6e%(7 3 *$z % *5$ = (
-8+E6=,679E1 3 *= - % *5% = (
"$5E1<, -T=6Q) 3 wwoov *5$ = (
“$5E1<, -1=6Q) 3 *$- " *5% = (
/$.$726 =2/7E1 3 *$z )* *5$ = (
9$5*$ %5,*,77$ 3 *$z )* *5%: (
5iN 9UPRV
.20E520, )h/g3 =2/7E1 3 *$z * *5% = (
6,.$%21<, 9E1&6% ./, T 3 *$z * *5$ = (
*8/<E6 ) (5(1& 3 *$z  * *5% = (
5pSiV 5RPiQ
*(,6=7,%25 3 *$z  * *5% = (
"e9%, *E%25 3 *$z * *5$ = (
" e9s%, *E%25 .25 *$:- * *5% = (
SXVIQ\IN ZiV]ly
+(5&=(C* %e/$ 3 *$z )% *5% = (
+(5&=C* %e/$ 3 *$z % *5$ = (
6DID.Qp ORVFK
7$5.7T 7,%25 3 *$z )* *5$ = (
.29E&6 B($75,; 3 *$- * *5% = (
6iQID %DUEDUD
=6e/<,=2/7Elle 3 HEoox *5$5:- (
6iQID OKiN
6=3%T 6=,/E*<, *<g5*<, $C  *$:- o~ *5$5:- (
6DV -y]VHI *iER
ODV]IDJ .RF]D &VWID $C  *B- > *5% = (
3DSS %plD $C *T:z o* *5$ = (
0$6=/$* 5T%(57 $C  *B- > *5% = (
0$6=/$* 5TH(57 $C *T:z o* *5$ = (
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0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVIl %XGDIRNL ~I
$iQV] . JNIG|S 6]HU]EGE (I\VpJ  7ISXV  7DWID  7DUIDP  %LJW 1w -XIDIpN

6FKHIQp 6LPFVL

3$/.1T3%$1,.T $C  *$- * *5% = (

GFKIHLHU - UV]H

B6E1"25 *<g5*< 3 *$- " *5% = (
3 - - *5%: (

6FKPLGI -y]VHI

%(1(, /E6=/T 3 *$z - *5$ = (

)5C (5 -$7%/,1 3 *$z - *5%: (

%$.-T e9%$ $1"5($ 3 * o ox *5$ = (

+(7<(< *E%25 3 wmoox *5% = (

E59%, e9% 3 * o ox *5$ = (

%XULEQ ,IGINy $C *TD o* *5%: (

6FKPLGIQp 9DVDI

"2%26 ./E5$ 3 *$z % *5%: (

6=3$%T =62/7 3 *$z % *5%: (

BHEHVINPQ $QGUi

&6E6=E5 52/$1" 3 *$z * *5$ = (

6]HGIIN . TURI\ $C *TD o* *5%: (

31QipU +DIQDIND $C *Tz o* *5$ = (

6LPRQQp ,IRQND

3(75E16=., 7$0E6 3 * o ox *5$ = (

6216 =2/7E1 3 wwoox *5%: (

6,0211e -8+E6= +(/*$ $C *Tz o* *5$ = (

6LSRV -XILiQQD

526=,. 7$0E6 3 *$z % *5$ = (

526=,.1le 795g. 2/*% 3 *$z % *5%: (

%$/E=6 5,&+E5" ,679E1 3 ww o ox *5%:(

6LSRV _UV]ILiQ

6LSRVQp 9DVIDJ LINRIHIID 3 *$z )* *5$ = (

6PXID *\]QJI\L (

9DUID (PPD 3 *$z * *5$ = (

6RI\PRVL eYD

OE7<86 /E6=/T 6E1"25 3 *$z )% *5$ = (

6IHIQQp *RGy EJ

6=(/(6 ,05( =2/7E1 3 *$z * *5$ = (

6IRIED -HQRQp

+(56,&6 *5e7$ 3 *$z * *5$ = (

GIURE§Q *DEULH)

+$56E1<, OES. 3 * o ox *5$ = (

625(*, (5=6e%(7 3 *$z * *5%: (

2/E+1e 6=$%1 (.7 3 * o ox *5$ = (

+(*("86 *E%25 3 *$z * *5%: (

+$-"0 3e7(5 3 *$z )* *5$ = (

BIXFKIN ZiV]ly

%(5.,)(6(1& 3 *$z )* *5% - (

%(5.,)(5(1& 3 *$z * *5%: (
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0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$liQV] -GS 6]HU]EGE (J\VpJ  7ISXV  7DWID  7DUIDP  %LJW 1w -XIDIpN
*21"$ /E6=/T 3 *$z * *5% = (
*21"$ /E6=/T 3 *$z )* *5$ = (
3217(//, /T5E17 $C  *$- * *5% = (
3217(//, /T5E17 $C  *$- ¢ *5$ = (
*<25, -T=6Q) $C  *B:- > *5% = (
6 IRQp -RYiJy O
3DINL LRUEHUI $C *T- * *5%: (
)DUNDV =Rl Q $C  *$:- )* *5$ = (
SUiIHUIQp =U 6]DEy (IHIND $C  *$: )™ *5% = (
-yQ\D Zi]il $C  *Tz * *5$ = (
6]DEy *p]D
+$%1 .1e 1<,/$6 -$52/,1% 3 *$:- $ *5$ = (
6]DEy ,PUpQp
717+1e 6=8&6 *$%5,(//$ 3 *$z )% *5$ = (
6]DEy .RYIFV -i
)E-7+ .5,6=7,E1 3 *$z % *5$ = (
&=5E.,-T=6Q 3 *$z )" *5% = (
6]DEy 3plHU
6=,*(79ES5, %E/,17 3 *$- * *5% = (
6]DEy =RUiQ
6=(17(/$-261e 3 *$z  * *5% = (
6=(17(/$-261e 3 *$z * *5$ = (
6]DEy %XGDL =VX
12),&=(5 7$0E6 .E/OElle 3 *$z )% *5$ = (
6]DEy -RYiFV -i

3 - *5$ = (

6=E6=, )(5(1&1le 3 *$- * *5% = (
6]DIDL *iERU
%$*2/< 5e.$ 3 *$z )* *5% = (
79/96,1e 6=E17T .$7$ 3 *$z * *5$ = (
6]D0DL 3piHU 3 *$z )* *5% = (
G]HLIHUI -y TVHI
6=3$%T 6&+0,"7 .$7%$/,1 (5, 3 wmoox *5% = (
DE%E1 $1,.T $C  $(%B3RIIK $(*21
DE%EL$1,.T 3 $(%63RIIK $(*21
6]HNpU =VRII
6=(.e5 OE5. 3 *$- * *5% = (
-(5el<,1e )$5.$6 *<g5*<, $C  *$- > *5% = (
6]HNpU =VRIIQp
en(5+$577 3e7(5 3 *$z )% *5$ = (
6]HPHIL 21D
J17$,0$5,$11% 3 *$z * *5$ = (
JI7$, 0$5,$11% .25 *$z * *5%: (
67(*(59%/" )(5(1& 3 *$z )* *5$ = (
&=$%$, =62/7 ,679E1 3 wmoox *5% = (
&=$%$, =62/7 ,679E1 .25 *=:o * *5$ = (
&=%$%%,1e . (1<e5,9(521,.% 3 *$- * *5%: (
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0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

CTToYS I [Te] | 6]HU]EGE (I\VpJ  7ISXV  7DWID  7DUIDP  %LJW 1w -XIDIpN
&=%$%%,1e . (1<e5,9(521,.% .25 *$:- * *5%: (
"e.E1%$1,.T 3 * o ox *5$ = (
6]HPHIL 6iQGRU
%51 "< *<25), .$7$/,1$1"5 3 * o ox *5$ = (
.E/OE1 .$7%$/,1 3 *$z )* *5% = (
J17$,0$5,$11% 3 *$z * *5$ = (
&]HIQHU $iND $C  *B:- ¢ *5% = (
&]HIQHUQP 1pPHIK *DEUHI $C  *$- ¢ *5$ = (
&=$%$, =62/7 ,679E1 $C  *$B: ) *5% = (
6]WEHN 7LERIQp
6=,5%(. $11%$ 3 *$z * *5% = (
6]RNH $liltiQp
6=e.(/<, (5,-$ 3 *$z )* *5% = (
6]RNpQp OpV]ilR
/25,1&=1e 6=2.( +$-1%/.$ 3 xeoox *5% = (
-(&6.€6 $77./% 3 * o ox *5$ = (
/25,1&= 7$0E6 3 wwoox *5% - (
6=2. ( %$/E=6 3 * o ox *5$ = (
*2579% %$5%$5% 3 wwoox *5% = (
6]RNpQp 6]DEY 6
.(5(6=7(6/",.T 3 Tz % *5% - (
1e0(7+ /E6=/T1e 3 *$z % *5$ = (
7 .RYiFV-iQRV
*<$50%7, 3,526.% 3 wwoov *5$ = (
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